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1.1 Mathematics and Physics 68. a. 612x10°s b. 294x10-°m 71.a.367m b, 2502m
67. a. 0.423m €. 1.250x10~%kg d. 750x107 g c. 46.00cm? d. 3.1 kg
b. 62x10-2m
c. 21x10° m 69. 031 mg, 1021 ug, 0.000006 kg, 11.6 mg
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a. 29X10° m?
b. 20x105 m/s
c. 13105 km?
d. 1.9x10? kg/m*®

a. 408 kg'm/s?
b. 645kg

No; itis in kg/s®

Measurement
482kg

24x102 m®
3621m
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80. A standard residential door
frame height is about 80 inches,
which is about 200 cm. The pre-
cision depends on the mea-
‘surement instrument used.

81. Sample: distance, cm; volume,
mL; mass, g; current, A; time, s;
temperature, °C

82. a. 1.2°C/h
b. 8°C
€. No. Temperature is unlikely
to continue falling sharply
and steadily that long.



[image: image4.png]86. a. See Solutions Manual.
b. a straight line
c. m=079V
d. g/cm?; density
e. 257g

Mixed Review

87. 0.0034, 456, 1234

88. 80 meters is equivalent to about
260 feet, which would be very
large. 10 meters would be a
more reasonable value.

89. 162 shorts = 1.00 long

90. volume = 1.87x10~* m?,
density = 8.87 g/cm®

91. 54X107 yr

92. 800 g/em?
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